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CHEMISTRY

BOOKS - CENGAGE CHEMISTRY (ENGLISH)

CLASSIFICATION AND NOMENCLATURE OF ORGANIC
COMPOUNDS

1. Given the IUP AC of the following alkanes:
CH3
() CH; — C H— CHy — |C — CH;
on on

|
CH,

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_2jg4Ae6jQqVw

2. Given the IUP AC names of the following compounds:

CH,
CHj |
() CH;CH,CH, C CHy — C = CH,
|

|
CoHs
CHs3

C
(yCH; — H — C=CH
(iii) C4Hy — CH = CH — CH,Cl
CH,CH — CH — CH,ClI

(IV) CHgCH = CH — CHgB’I"

Cl
\
vCHy =CH - C - CH = CH,
CH>CH3
ViCH,=CH- C H-C =CH,

| |
Cl

vii. (CH;),C — CH = CH,

° Watch Video Solution



https://dl.doubtnut.com/l/_ckxyKma6his8

3.CH; — |CH - |OH — CH;

Cl I
CH; — C H— (CHy), — C H — CH — CHyCH;
| | |
CH; CH; Br

o Watch Video Solution

4.CH;3 — ﬁ' — CH,OH
CH>

it CH (3)-CH=CH-CHO

o Watch Video Solution

5. Give the IUPAC names for the following polyfunctional
compounds:

i.CH3CH>O — CHy — CHOH — CH;3

CH,
|

i.CH; — C H— CH, — C — CHj
| |

NO, OH



https://dl.doubtnut.com/l/_RpLZeexANB0i
https://dl.doubtnut.com/l/_qbj61RzEs5m0
https://dl.doubtnut.com/l/_30SyAZ0WKSqL

H3C OH
\ \
i.CH, = C — CH— CH,CN

iv. CH,;— CH— COOH
CoNH,
V. HOOCCH, — CH— CH,COOH
COOH
vi. CH;— CH— CH,— CH,

| |
COCH, NH,

(|3HO

vil. HOOCCH, — C— CH,COOH
COOH

o Watch Video Solution

6. a. Rewrite the following structual formula in bond line notation.

(iy CHsC H,CH,CH,CHs,


https://dl.doubtnut.com/l/_30SyAZ0WKSqL
https://dl.doubtnut.com/l/_WECDnZw02Ql0

ii. (CH,),CHCH,CH(CH3)NH,
iii. (CH3CH,) NCHj

iv. CH;CHBrCH,CH,CHO

o Watch Video Solution

7. Given the IUP AC names of the following compounds:

H;C CH,CHO

ii.

iii. D—CH=CH——$H—CH3CH 3

CH;

0O

i éfcnzcmcocm
1v.

0O

COOCH;
V.

vi. HOCH,— $— CH=CHCH,COOH


https://dl.doubtnut.com/l/_WECDnZw02Ql0
https://dl.doubtnut.com/l/_7eri1CYMVASC

C,Hs
CH;
(CH,)9CH;
viii.
CH3(CHy), (CH,)yCH;
OH
ix.

O
COOH

OHC

o Watch Video Solution



https://dl.doubtnut.com/l/_7eri1CYMVASC

8. Give the IUP AC names of the following compounds :

a, O
: SO
e- (D

Cl
Me
i j- Br
i |

o View Text Solution

Solved Example


https://dl.doubtnut.com/l/_zIuMaDSovEwG




o) Mc Mece
Mc

M
¢ Mc¢ Mc



https://dl.doubtnut.com/l/_gC3pV4QBiAPo

1. )
Mc/\/' ‘ “‘()/\M

(]
Me
NH
l‘o 170 Mc\/\/
Me
HO Me
Mg OH
20 21. (
Me Me o” HO
Cy
22. Mc - 0/<Mc
OH
COOH Me
Me
23, Me 24. =
N\
\O
O
25 26'@
Mc


https://dl.doubtnut.com/l/_gC3pV4QBiAPo

OH
O
HO M
30. Mec O
OH |l Me
O
Mece~
= A
31. ~
Mc Me¢ Mec
Mc Me
A N
OH
32. Me
Me
C=N
Me 34 MC
NH Me
Mcﬁ Me

LY e Wy
35, " Me
OH Mc/\ Me


https://dl.doubtnut.com/l/_gC3pV4QBiAPo



https://dl.doubtnut.com/l/_gC3pV4QBiAPo

45. Me
Mc
Me
47. OH
Me Me

o View Text Solution

2. Draw Structure of Benzonitrile



https://dl.doubtnut.com/l/_gC3pV4QBiAPo
https://dl.doubtnut.com/l/_ASgDSFmh0XRD

| ° Watch Video Solution

3. Write the correct name of the following :

1. Pent-1-yn-5-ol

O Watch Video Solution

4. Write the structure of cetylethyldimethylammonium bromide, a
compound with antiseptic property and also used as a cationic
detergent.

Predict its solubility behavior in water and diethyl ether.

b. Write structure of cetyltrimethylammonium bromide, a popular

cationic detergent used in hair conditioners

o Watch Video Solution



https://dl.doubtnut.com/l/_ASgDSFmh0XRD
https://dl.doubtnut.com/l/_DgoDAeB4d8ah
https://dl.doubtnut.com/l/_B81ZCuJE5Gzl

5. Write the structure (s) of the simplest alkane (s), with fewest

number of C atoms, possessing 1°,2°,3°,and 4° C atoms.

o Watch Video Solution

1. write the structural formula for each of the following

a.A 3° amine with the formula C3HgN.
b. Three ethers with the formula CyH;,O.

c. A 3° alcohol with the formula C4HgO.

o Watch Video Solution



https://dl.doubtnut.com/l/_bmJ9DNrhQ1D2
https://dl.doubtnut.com/l/_0uzrJK7IjZmf

2. Indicate the following as 1°, 2°, and 3° amine:

\N
Q. O
\\___/ |
VAR
b. N —Me¢
Ph M
/ C
C. Ph>/\NH
d. E;N
NH»
. Me/\(\ 2
Me
NH Me
f. Mc -~ \(

o Watch Video Solution



https://dl.doubtnut.com/l/_j7GsC5AbPE85
https://dl.doubtnut.com/l/_5rPoYLQ8A9z5

3. Indicate the following as 1°, 2°,and 3°

Me Me
}OH b O<OH
OH

Mc Me
¢ Me >|/\OH d. \ e/‘\/I/
Me Me
Mce
Me
Me OH

° Watch Video Solution

4. Write the structural formula for seven compounds with the

formula C3 HgO and identify the funcitonal groups.

o Watch Video Solution

5. There are seven isomeric compounds with the formula C4H1900O

Write their structures and identify their functional groups


https://dl.doubtnut.com/l/_5rPoYLQ8A9z5
https://dl.doubtnut.com/l/_XCitnip29b40
https://dl.doubtnut.com/l/_wtDiXwXh4c8F

o Watch Video Solution

6. There are four alky1 chlorides with the formula CyHyC1I. Writre

their structures and identify then as 1°, 2°,and 3° alky1 chlorides

o Watch Video Solution

7. There are four amides with the formula CsH; NO.
Write their structures.
Identify the amide which has lower melting point and boiling point

than the other three.

o Watch Video Solution

8. Write the IUPAC name of the compound (A) which is a 2-

methy1 branched alkane having a molecular mass of 254. This


https://dl.doubtnut.com/l/_wtDiXwXh4c8F
https://dl.doubtnut.com/l/_AIrmgQ4LQaJ2
https://dl.doubtnut.com/l/_kkSPbz01i7jj
https://dl.doubtnut.com/l/_VoCM2OGaSUz6

compound is a sex-attractant and is isolated from female tiger

moths.

° Watch Video Solution

9. Write the ITUPAC name of the compound (A) which is a 2-

methyl alkane with molecular mass of 72.

° Watch Video Solution

10. Write the IUPAC name of the compound (A) in which the

molar ratios of C, H, and O of equal having a molecular mass of 58

o Watch Video Solution

Concept Application Type


https://dl.doubtnut.com/l/_VoCM2OGaSUz6
https://dl.doubtnut.com/l/_TcMDjB5UBbzQ
https://dl.doubtnut.com/l/_hQeYo4INjePX

1. What are hybridisation states of each carbon atom in the
following compounds ?

CH2 = C = O, CHgCH == CHz, (CH3)2CO, CH2 == CHCN, CGHG

o Watch Video Solution

2.Indicate the o and 7 bonds in the following molecules :

CyHg, CsHyy, CH,Cyy, CHy = C = CH,, CH;NO,, HCONHC H

° Watch Video Solution

3. Write bond line formulas for : Isopropyl alcohol, 2;3-

Dimethylbutanal, Heptan-4- one.

° Watch Video Solution



https://dl.doubtnut.com/l/_1HVFwdGuIOQ4
https://dl.doubtnut.com/l/_oTVznr3SF3xq
https://dl.doubtnut.com/l/_Htme9mE6nS8y

4. Give the IUPAC names of the following compounds

a. @\/\ b. L __CN
c. )\/\(\ a. <>

e. Cl/\/\H f. Cl,CHCH,OH

a.

° Watch Video Solution

5. Which of the following represents the correct .UP.A.C. name for
the compounds concerned?

2,2-dimethylpentane or 2-dimethylpentane

o Watch Video Solution



https://dl.doubtnut.com/l/_lbzqcuz31Ctm
https://dl.doubtnut.com/l/_4EMgZD8ypswg

6. Draw formulas for the first five members of each homologous
series beginning with the following compounds.(a) H- COOH (b)

CH3;COCHj (c) H-CH = CH,

o Watch Video Solution

7.1dentify the functional groups in the following compounds

(a)
CHO

OM
oH ¢

(b)

NH,


https://dl.doubtnut.com/l/_vL4n0WTBK09E
https://dl.doubtnut.com/l/_UnjGJk3aky3Y

H-CH-N(C-H5)»

(¢)

CH=CHNO

o Watch Video Solution

Linked Comprehesion Type


https://dl.doubtnut.com/l/_UnjGJk3aky3Y

1. The analgesic drug ibuprofen (A) is chiral and exists in (+) and (-)
froms. One enantiomer is physiologically active, while the other is
inactive. The other is inactive. The structure of ibuprofen is given

below.

Me

COOH
Me

Me

The principal functional group in (A) is:

A. Phenyl
B. —COOH group
C. Isopropyl

D. Both (a) and (b)

Answer: B

f 1


https://dl.doubtnut.com/l/_G7rPzovOimjn

| o Watch Video Solution

2.The analgesic drug ibuprofen (A) is chiral and exists in (+) and (-)
froms. One enantiomer is physiologically active, while the other is
inactive. The other is inactive. The structure of ibuprofen is given

below.

Me

COOH
Me

Me

The IUPAC name of (A) is:

A. 3~(p-Isobutyl phenyl) propanoic acid
B. 2-(p-Isobutyl phenyl) propanoic acid
C. 3-(p-sec-Butyl phenyl) propanoic acid

D. 2-(p-sec-Butyl phenyl) propanoic acid


https://dl.doubtnut.com/l/_G7rPzovOimjn
https://dl.doubtnut.com/l/_Vrf9BcQXh4Iw

Answer: B

° Watch Video Solution

3.The analgesic drug ibuprofen (A) is chiral and exists in (+) and (-)
froms. One enantiomer is physiologically active, while the other is
inactive. The other is inactive. The structure of ibuprofen is given

below.

Me

COOH
Me

Me

The number of 7 - bonds in (A) is :

A2

B.3


https://dl.doubtnut.com/l/_Vrf9BcQXh4Iw
https://dl.doubtnut.com/l/_PZeeRolJuECs

C.4

D.5

Answer: C

o Watch Video Solution

4.The analgesic drug ibuprofen (A) is chiral and exists in (+) and (-)
froms. One enantiomer is physiologically active, while the other is
inactive. The other is inactive. The structure of ibuprofen is given

below.

Me

COOH
Me

Me

The number of o-bonds in (A) is:


https://dl.doubtnut.com/l/_PZeeRolJuECs
https://dl.doubtnut.com/l/_Q4qxr5yW2PTS

A.30

B. 31

C.32

D.33

Answer: D

o Watch Video Solution

5. Aspirin is widely used as an analgesic drug. It is optically inactive.

The structure of asprim is:


https://dl.doubtnut.com/l/_Q4qxr5yW2PTS
https://dl.doubtnut.com/l/_droLWCipBjIw

OCOMe

COOH

The principal functional group in(A) is :

A. Pheny1
B.— —COOH
C. Ester

D. All

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_droLWCipBjIw

6. Aspirin is widely used as an analgesic drug. It is optically inactive.

The structure of aspirin is:

OCOMe

COOH

Which of the following is not the correct name for aspirin?

A. 2-Acetyl salicylic acid
B. 2-Acetoxy benzoic acid
C. 2-Acetoxy salicylic acid

D. None

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_V5lBBfAS4fOa

7. Aspirin is widely used as an analgesic drug. It is optically inactive.

The structure of aspirin is:

OCOMe

COOH

The number of 7 - bonds in (A) is:

A3
B.4
C.5

D.6

Answer: C

f - 1


https://dl.doubtnut.com/l/_V5lBBfAS4fOa
https://dl.doubtnut.com/l/_QULKQgvBPn2F

| o Watch Video Solution

8. Aspirin is widely used as an analgesic drug. It is optically inactive.

The structure of aspirin is:

OCOMe

COOH

The number is o - bonds in (A) is:

A.19
B. 20
C. 21

D. 22


https://dl.doubtnut.com/l/_QULKQgvBPn2F
https://dl.doubtnut.com/l/_h8xU2C9DV6xN

Answer: C

° Watch Video Solution

9. Crixivan, a drug produced by Merck and Co., is widely used in the
fight at against AIDS (acquied immune dificiency syndrome). The

sturcture of cirxivan is given below:

Ph
@j/\r\g}’\jj/%‘/ NH I§
N~ YO 0

How many 2° alcohol groups are present in the above compound?

A. Zero
B.1
C.2

D.3


https://dl.doubtnut.com/l/_h8xU2C9DV6xN
https://dl.doubtnut.com/l/_PYr4QQ9v96WP

Answer: C

° Watch Video Solution

10. Crixivan, a drug produced by Merck and Co., is widely used in the
fight at against AIDS (acquied immune dificiency syndrome). The

sturcture of cirxivan is given below:

Ph
@/\Q\jﬁ%‘/ NH I§
N~ YO 0

How may amide groups are present in the compound?

A. Zero

B.1

C.2

D.3


https://dl.doubtnut.com/l/_PYr4QQ9v96WP
https://dl.doubtnut.com/l/_uzIyorBgTGUD

Answer: C

° Watch Video Solution

11. Crixivan, a drug produced by Merck and Co., is widely used in the
fight at against AIDS (acquied immune dificiency syndrome). The

sturcture of cirxivan is given below:

Ph
@/\Q\jﬁ%‘/ NH I§
N~ YO 0

How many 3° amine groups are present in the compound?

A. Zero
B.1
C.2

D.3


https://dl.doubtnut.com/l/_uzIyorBgTGUD
https://dl.doubtnut.com/l/_mdUnUdLTm5ej

Answer: C

° Watch Video Solution

12. Crixivan, a drug produced by Merck and Co., is widely used in the
fight at against AIDS (acquied immune dificiency syndrome). The

sturcture of cirxivan is given below:

Ph
@/\Q\jﬁ%‘/ NH I§
N~ YO 0

How many 2° amine groups are present in the compound ?

A. Zero
B.1
C.2

D.3


https://dl.doubtnut.com/l/_mdUnUdLTm5ej
https://dl.doubtnut.com/l/_4us7CkGnojN6

Answer: A

o Watch Video Solution

Multiple Corrcct Answers Types

1. Which of the following statements is /are wrong?

A.C, H,, is the general formula of alkanes.

B.In homologous series, all member have the same physical
properties.

C. IUPAC means International Union of Physics and Chemistry.

D. Butane contains two 1° C atoms and two 2° C atoms.

Answer: A::B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_4us7CkGnojN6
https://dl.doubtnut.com/l/_zjYJhrVtnspP

2. Which of the following statements is /are correct?

A. Homologous series can be represented by a general formula.

B. The chemical properties of an organic compound depend on
the functional group.

C. Groups obtained by the removal of one H atom from the
alkane are called alkyl group.

D. Alkynes consist of one double-bond in their molecules.

Answer: A::B::C

o Watch Video Solution

3. Which of the following statements is / are wrong?

A. Acetic acid is the systematic name of vinegar.


https://dl.doubtnut.com/l/_WVcnO3OTqR5n
https://dl.doubtnut.com/l/_WYh92Irzhsi6

o

|
B. Me — C' — OH is an unsaturated compound.

C. Prefixes like n-jso, sec-tert,neo-etc., are used in IUPAC

system.
D. The systematic names of acids are formed by dropping-e of

the name of parent alkane and adding -oic acid.

Answer: A::B::C

o Watch Video Solution

4. Which of the following statements is / are correct?

(0] (0]

[ [
AR —C — O — C — Ris an unsaturated compound.

B. Neohydrocarbons contain a 3° C atom.

C.The IUPAC name of isopropyl alcohol is propan-2-ol.


https://dl.doubtnut.com/l/_WYh92Irzhsi6
https://dl.doubtnut.com/l/_AkaDkCTNeVpj

D. The IUPAC name of (CH3CN) ie ethanenitrile.

Answer: C::D

o Watch Video Solution

5. Which of the following statements is /are correct?

A. Methane was named as fire damp as it forms explosive
mixture with air.

B. Primary suffixes are added to root word to show saturation or
unsaturation in a C atom.

C.The IUPAC name of valeric acid is pentanoic acid.

D. The common name of hexanoic acid is caproic acid.

Answer: A::B::C::D

| ° Watch Video Solution


https://dl.doubtnut.com/l/_AkaDkCTNeVpj
https://dl.doubtnut.com/l/_CaBypauOcYZY

6. Which of the following statements is /are correct?

A.The IUPAC name of amyl alcohol is pentanol.
B. The IUP AC name of isoamyl alcohol is 3-methyl butanol.
C. Wood spirit is methanol.

D. Methyl alcohol is also called carbinol

Answer: A::B::C::D

o Watch Video Solution

7. Which of the following statements is / are correct?

A.The trivial name of organic compounds are called common

names.


https://dl.doubtnut.com/l/_CaBypauOcYZY
https://dl.doubtnut.com/l/_oesvCzI7tKIW
https://dl.doubtnut.com/l/_7GTPkbqDYxUv

B. The systematic name of organic compounds are obtained

from the IUPAC system.

C. The systematic names of alkanes are based on the numebe of

C atoms in the longest continuous chain of C' atoms.

D. The maximum number of functional groups must be included

in the C' atom chain selected even if it does not satisfy the

longest chain rule.

Answer: A::B::C::D

o Watch Video Solution

8. Which of the following statements is /are correct?

A. The common name of (HOOC — CH, — COOH) is malonic

acid.


https://dl.doubtnut.com/l/_7GTPkbqDYxUv
https://dl.doubtnut.com/l/_babiBJvICp1g

B. The common name of

—— COOH

—— COOH

is succinic acid.
C.The IUPAC name of (CHy, = CH — OCOCHj3) is vinyl
acetate.

D. The IUP AC name of acrylonitrile is Prop-2-ene-nitrile.

Answer: A::B::D

° Watch Video Solution

9. Which of the following statements is /are correct?

A. The common name of benzene-1,2-diol is catechol.
B. The common name of benzene-1,3-diol is resorinol.

C. The common name of benzene-1,4-diol is quinol.


https://dl.doubtnut.com/l/_babiBJvICp1g
https://dl.doubtnut.com/l/_Q05KWYccXUq1

D. The common name of benzene -1,4-diol is hydroquinone

Answer: A::B::C::D

o Watch Video Solution

10. Which of the following statements is /are correct?

A. The common name of benzene-1,2,3-triol is pyrogallol.
B. The common name of benzene-1,2,4-triol is hydroxquinol.
C. The common name of benzene-1,3,5-triol is phoroglucinol.

D. The common name of (CHy = CH — Ph) is styrene.

Answer: A::B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_Q05KWYccXUq1
https://dl.doubtnut.com/l/_4HgRAWDbufjR

11. The compounds in which C uses its sp*- hybrid orbitals for bond
formation are:

A.HCOOH

B. (H2N),CO

C.(CH;),COH

D. CH;CHO

Answer: C::D

° Watch Video Solution

Single Correct Answer Type

1. The decreasing order of priority for the following functional

group is:


https://dl.doubtnut.com/l/_FOv81DjDa3hE
https://dl.doubtnut.com/l/_Ga8fWfFolePx

. —COOH Il. — SO3 H
l. — COOR V. — COC1
A (IV) > (III) > (II) > (I)
B.(I) > (II) > (III) > (IV)
c.(II) > (I) > (III) > (IV)

D. (IV) > (III) > (I) > (II)

Answer: B

° Watch Video Solution

2.The decreasing order of prority for the following functional group
is
I.C = NI.—CONH,

lIl. L2 Ivgt — CHO

A (II) > (I) > (IV) > (I1II)


https://dl.doubtnut.com/l/_Ga8fWfFolePx
https://dl.doubtnut.com/l/_hu1w88wgZqtM

B.(III) > (IV) > (I) > (II)
C.(I) > (II) > (IV) > (III)

D.(I) > (II) > (III) > (IV)

Answer: A

o Watch Video Solution

3. The decreasig order of priority for the following functional
groups is:

l—OHligt—-C=C —

N, S
/("'"C\

. IV. — NH,


https://dl.doubtnut.com/l/_hu1w88wgZqtM
https://dl.doubtnut.com/l/_Tbj1sLXPQS1U

A (IV) > (I) > (II) > (III)
B.(IV) > (I) > (III) > (II)
C.(I) > (II) > (IV) > (III)

D.(I) > (IV) > (III) > (II)

Answer: C

o Watch Video Solution

4. The number of 1°,2°, and 3° H atoms in 2,5,6-trimethy1 octane,

respectively,is

A.16,5,3

B.15,5,3

C.16,6,3

D.15,5,2


https://dl.doubtnut.com/l/_Tbj1sLXPQS1U
https://dl.doubtnut.com/l/_Dn8duI8MRXio

Answer: B

o Watch Video Solution

5. The number of 1°,2°, and 3°H atoms in 3-ethyl-5-methy1

heptane, respectively, is:

A 12,81

B.14,4,2

C.12,6,2

D.128,2

Answer: D

o Watch Video Solution

6. The number of o- and 7-bond in hexan-2,4-diol, respectively,is:


https://dl.doubtnut.com/l/_Dn8duI8MRXio
https://dl.doubtnut.com/l/_47darWCTwged
https://dl.doubtnut.com/l/_wbfHfcvLvzFf

A. 18,2

B.17,2

C.17]

D. 18,1

Answer: B

o Watch Video Solution

7. The number of o- and 7-bond in 5-oxohexanoic acid, respectively,

is :

A. 18,2

B. 18,1

C.17,2

D.17]


https://dl.doubtnut.com/l/_wbfHfcvLvzFf
https://dl.doubtnut.com/l/_qxhjXzQG1ndJ

Answer: A

o Watch Video Solution

8. Which of the following is correctly named?

: :Cl
& 0O,N

A. 2 NO,

NO,

B.  CH

oy

C.
3-Ethyl-1,1-dimethyl
C cwb hexane

oy

d.
1-Ethyl-3,.3-dimethyl
D cyclohexane

Answer: C


https://dl.doubtnut.com/l/_qxhjXzQG1ndJ
https://dl.doubtnut.com/l/_2MlbArRNLwTp

o Watch Video Solution

9. The systematic naming of the following cycloalkane is

Me

A. 6-Methy1 bicyclo [3.2.0] heptane

B. 7-Methy1 bicyclo [3.2.0] heptane

C. 2-Methy1 bicyclo [3.2.0] heptane

D. 3-Methy1 bicyclo [3.2.0] heptane

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_2MlbArRNLwTp
https://dl.doubtnut.com/l/_o6ZXKCD18Bnm

10. In which of the following reactions, the principal group loses its
preferences?
0) 0
L Mc)k/COOH _—(1:3(? Me/"u\ Me

H
IL MCNCOO -—A—)Mc/\

-CO,
COOH . PN
_>
III. ML-/\/<COOH —co, > Me COOH
I b. L 11 c. [, I, III d. LU
de
Al
B. 1, Il
C.L
D. Ll
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_FIqwx5UkBbVp
https://dl.doubtnut.com/l/_jpzJMFx5Shg3

11. Which of the following is oxetane?

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_jpzJMFx5Shg3

12. The systematic nomencalutre of the following spiro-compound

is:

Me

A. 2-Methy1 spiro [3.4] octane
B. 3-Methy1 spiro [3.4] octane
C. 6-Methy1 spiro [3.4] octane

D. 7-Methy1 spiro [3.4] octane

Answer: C


https://dl.doubtnut.com/l/_qysc1QEd3L4H

o Watch Video Solution

13. An alkane (A) having a molecular mass of 72 produces one

monochlorination product. Compound (A4) is:

A > Me”™ >N\

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qysc1QEd3L4H
https://dl.doubtnut.com/l/_PxlTcBUeEFjN

14. A compound (A) with molecular formula CsH;, gives one

monochlorination product. Compound (A) is:

Me
a.
A.
b.
B.
. eMTITY

D. d. MeN"Me

Answer: B

° Watch Video Solution

15. Which of the following the following in a 3° amine?

A. Propan-2-amine


https://dl.doubtnut.com/l/_86MjRXhieS9y
https://dl.doubtnut.com/l/_tBJi2HSQWZCU

B. N- Methy1 ehtanamine

C. Allyl amine

D. N, N-Diethyl butan-1-amine

Answer: D

o Watch Video Solution

16. Which of the following as a 3° alcohol?

A. t-Buty1 carbinol

B. 2-Methy1 propan-2-ol

C. 2-Methy1 butan-1-ol

D. isoamy?1 alcohol

Answer: B

I ° Watch Video Solution


https://dl.doubtnut.com/l/_tBJi2HSQWZCU
https://dl.doubtnut.com/l/_yiVRzifKDu8f

17. Which of the following is zerone?

Answer: A

o Watch Video Solution

18. Which of the following is pyrogallol?

OH

OH
a.
OH


https://dl.doubtnut.com/l/_yiVRzifKDu8f
https://dl.doubtnut.com/l/_iOQwQ8TVe1NI
https://dl.doubtnut.com/l/_IsqB5FgLoXVZ

OH

OH
b.
B. OH
OH
el
C. OH OH
OH
OH
d.
D.
Answer: A

o Watch Video Solution

19. In 3-chloro cyclohexanol, the primary prefix is:

A. 3-Chloro

B. Cycle


https://dl.doubtnut.com/l/_IsqB5FgLoXVZ
https://dl.doubtnut.com/l/_VKAQUjiGp3TK

C.an (e)

D. —ol

Answer: B

o Watch Video Solution

20. In 2-Chloro-3-methy1 hexanoic acid, the primary suffix is:

A. 2-Chloro-
B. —3 — Methyl
C.an (e)

D. oic acid

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_VKAQUjiGp3TK
https://dl.doubtnut.com/l/_hrkRFUVU93R5
https://dl.doubtnut.com/l/_xpB2uCKPHv6W

21. The correct name of the compound (1) is:

Me —\/Me
A.(E — 2), (E — 4), Hepta-2,4-diene
B.(Z — 2), (Z — 4), Hepta-2,4-diene
C.(E —2),(Z — 4), Hepta-2,4-diene

D.(Z — 2), (E — 4), Hepta-2,4-diene

Answer: D

° Watch Video Solution

22. Which of the following is not a cumulated diene?

A. Hexa-1,2-diene

B. Hexa-2,3-diene


https://dl.doubtnut.com/l/_xpB2uCKPHv6W
https://dl.doubtnut.com/l/_DYchIIjBTMaj

C. Penta-2,3-diene

D. Penta-1,3-diene

Answer: D

o Watch Video Solution

23. Which of the following has only 1° and 2° C atoms?

A. 2-Methy1 butane

B. Butane

C. 2,2-Dimethy1 butane

D. 2,2,3,3-Tetramethy1 pentance

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_DYchIIjBTMaj
https://dl.doubtnut.com/l/_lU9g5KxRHxbs
https://dl.doubtnut.com/l/_vskQQDptd2Lq

24.The IUPAC name of viny1 acetylene is:

A. Pent-1-en-4-yne

B. Pent-4-yn-1-ene

C. But-1-en-3-yne

D. But-1-yn-3-ene

Answer: C

o Watch Video Solution

25. Which of the following structures represents cyclopentyl methy1

carbino1?

OH

f CH,
A a.


https://dl.doubtnut.com/l/_vskQQDptd2Lq
https://dl.doubtnut.com/l/_s9lfNgLQJeo1

Me
C b.
“OH
d.
D.
Answer: C

o Watch Video Solution

26.The IUPAC name of acrolein is:

A. But-2-enal

B. Prop-2-enal

C. But-3-enal


https://dl.doubtnut.com/l/_s9lfNgLQJeo1
https://dl.doubtnut.com/l/_PPgbYPwt4njn

D. 2-Methy1 prop-2-enal

Answer: B

o Watch Video Solution

27.The IUP AC name of the following compound is

N(C CN

CN

A. Propane-1,2,3-tricarbonitrile
B. 3-Cyanopentanel,5-dinitrile
C. Pentane-1,3,5-trinitrile

D. All


https://dl.doubtnut.com/l/_PPgbYPwt4njn
https://dl.doubtnut.com/l/_r1UYLJVnlfGv

Answer: A

o Watch Video Solution

28. Which of the following is not the name of CH3 NC?

A. (a) Methyl isocyanide

B. (b) Aceto isonitrile

C. (c) Methyl carbyl amine

D. (d) Acetronitrile

Answer: D

° Watch Video Solution

29.The IUPAC name of Ph — CN is :


https://dl.doubtnut.com/l/_r1UYLJVnlfGv
https://dl.doubtnut.com/l/_HdqGpXzgHn3z
https://dl.doubtnut.com/l/_WlyUyJgA475p

A. (a) Phenyl cyanide

B. (b) Benzonitrile

C. (c) Benzene nitrile

D. (d) All

Answer: C

o Watch Video Solution

30. Give the JUPAC name of :



https://dl.doubtnut.com/l/_WlyUyJgA475p
https://dl.doubtnut.com/l/_N6uroTb55BzA

A. 2,2-Dimethy1-3-propyl-4-isopropy1 heptane

B. 4-Isoproy11-5-t-buty1 octane

C. 4-t-Butyl-5-isoprpyl octane

D. 2-Methy1-3-propyl-4-isopropy1 heptane

Answer: C

o Watch Video Solution

31. Which of the following statements is wrong for homologous

series?

A. (a) All members have a general formula.

B. (b) All members have the same functional group.

C. (c) All members have the same chemical properties.

D. (d) All members have the same physical properties.


https://dl.doubtnut.com/l/_N6uroTb55BzA
https://dl.doubtnut.com/l/_n8214qA7PkwC

Answer: D

o Watch Video Solution

32. The alkane which has only 1° H atoms is:

A. Neopentane

B. Isopentane

C. Pentane

D. 2,2-Dimethy1 butane

Answer: A

° Watch Video Solution

33. Which group is always taken as a substituent in the IUPAC

system of nomenclauture ?


https://dl.doubtnut.com/l/_n8214qA7PkwC
https://dl.doubtnut.com/l/_mjeFMdEGp7I5
https://dl.doubtnut.com/l/_IesXSuq45BD9

A.—NO,

B.-C=N

C.
D.—NH,
Answer: A

° Watch Video Solution

34.1UPAC name of (CH3),C' — CH = CHy is

A. 2,2-Dimethy1 but-3-ene
B. 2,2-Dimethy1 pent-4-ene
C. 3,3-Dimethy1 but-1-ene

D. Hex-1-ene


https://dl.doubtnut.com/l/_IesXSuq45BD9
https://dl.doubtnut.com/l/_8sjQe7M0PbAC

Answer: C

° Watch Video Solution

35. Which of the following compounds is 2,2,3-trimethylhexane?

CH; CH;,
| |
ACH,— C — C — CH,— CH;
|
CH;
CH; CH;
| |
8.CHy ~ C — CH, ~ O H - CHy
CH3
CH,
\
C.CHy ~ O H — CH, ~ CHy — O — CH,
CH; CH;3
CH;3 CH3
| |
D.CHj3 — ‘C — CH—-CHy; — CH;s
CH,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_8sjQe7M0PbAC
https://dl.doubtnut.com/l/_2nRat89kV5jw
https://dl.doubtnut.com/l/_kTfgyvd5mXht

36. The bond between carbon atom (1) and carbon atoms (2) in

compound , N= C — C H = CH, involves the overlapping
(1) (2)

between

A. sp® and sp?
B. sp° and sp
C. spand sp®

D. spand sp

Answer: C

o Watch Video Solution

37. If two compounds have the same empirical formula but different

molecular formula, they must have

A. Different percentage composition


https://dl.doubtnut.com/l/_kTfgyvd5mXht
https://dl.doubtnut.com/l/_X2Gkk9AA0ybS

B. Different molecular weights

C. Same velocity

D. Same vapour density

Answer: B

o Watch Video Solution

38.The number of o-and m-bond in 1-butene-3-yne is:

A.bo and 57

B. 70 and 37

C.8c and 27

D. 60 and 4r

Answer: B

I ° Watch Video Solution


https://dl.doubtnut.com/l/_X2Gkk9AA0ybS
https://dl.doubtnut.com/l/_K6buBkIQGTil

39. Which of the following compounds has isopropyl group?

A. 2,23 3-Trimethy1 pentae

B. 2,2-Dimethy1 pentane

C. 2,2,3-Trimethy1 pentane

D. 2-Methy1 pentane

Answer: D

o Watch Video Solution

40.The correct IUPAC name of the compound is:
CH;
CH3CH, —C=CH— CH—CH,— CHj
CH3CH2—(|3H— CH,— CH,— CH,— CHj


https://dl.doubtnut.com/l/_K6buBkIQGTil
https://dl.doubtnut.com/l/_wQQdFwUTCQ1F
https://dl.doubtnut.com/l/_RiSdUKOY9IUr

A. 5,6-Dimethy1-3-methy1 dec-4-ene

B. 5,6-Dimethy1-8-methy1 dec-6-ene

C. 6-Buty1-5-ethyl1-3-methy1 oct-4-ene

D. 2,4,5-Triethy1-3-nonene

Answer: A

o Watch Video Solution

41. The hybridisation of C atoms in (C — C) single-bond of
H-C=C-CH=CH,is:

AH,C=CH-C=CH

B.HC=C-CH,—-C=CH

D.sp — sp2


https://dl.doubtnut.com/l/_RiSdUKOY9IUr
https://dl.doubtnut.com/l/_2j1LEGOGUG3S

Answer: C

o Watch Video Solution

42. Which of the following represents the given sequence of
hybridisation of carbon atoms from left to right sp?, sp?, sp, sp?
AH,=CH-C=CH
BHC=C-CH,—-C=CH
CH,C=C=C=CH,
_~CH:

d.
H.C
D. i

Answer: A

O Watch Video Solution



https://dl.doubtnut.com/l/_2j1LEGOGUG3S
https://dl.doubtnut.com/l/_R74w44Qrlo0E

43.The IUPAC name of C¢H;COCl is :

A. Benzoy chloride

B. Benzene chloro ketone

C. Benzene carbony1 chloride

D. Chloropheny1 ketone

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_d6Rtv7sjNgjw

44.The IUPAC name of the following compound is

OH

Br

A. 4-Bromo-3-cyanophenol

B. 2-Bromo-5-hydroxy benzo nitrile

C. 2-Cyano-4-hydroxy bromo benzene

D. 6-Bromo-3-hydroxy benzonitrile


https://dl.doubtnut.com/l/_lancaB9WKClw

Answer: B

° Watch Video Solution

Assertion Reasoning Type

1. Assertion (A) : Pentane and 2-methy1 pentane are homolo-gues.
Reason (R): Pentane is a straight-chain alkane, while 2-methy1
pentane is a branched-chain alkane.
A.If both (A) and (R) are correct and (R) is the correct
explanation for (A).
B.If both (A) and (R) are correct and (R) is not the correct
explanation.
C.If (A) is correct and (R) is incorrect.

D. If both (A) and (R) are incorrect.


https://dl.doubtnut.com/l/_lancaB9WKClw
https://dl.doubtnut.com/l/_jkYLj15w6xx5

Answer: B

° Watch Video Solution

2. Assertion (A) : All the C' atoms of but-2-ene lie in one plane
Reason (R): Double-bond C atoms are sp*-hypbridised.
A.If both (A) and (R) are correct and (R) is the correct
explanation for (A).
B.If both (A) and (R) are correct and (R) is not the correct
explanation.
C.If (A) is correct and (R) is incorrect.

D.If both (A) and (R) are incorrect.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_jkYLj15w6xx5
https://dl.doubtnut.com/l/_3ZwQRfRBakVO

3. Assertion (A) : The IUPAC name of the citric acid is 2-hydroxy-
propane-1,2,3-tricarboxylic acid

Reason (R): When an unbranched C atom directly linked to more
than two like-functional groups, then it is named as a dervative of
the parent alkane which does not include the C of the functional

groups.

COOH

HOOC COOH
OH

Citric acid

A.If both (A) and (R) are correct and (R) is the correct
explanation for (A).
B.If both (A) and (R) are correct and (R) is not the correct

explanation.


https://dl.doubtnut.com/l/_3ZwQRfRBakVO
https://dl.doubtnut.com/l/_JHYWdkyNt9S8

C.If (A) is correct and (R) is incorrect.

D.If both (A) and (R) are incorrect.

Answer: A

o Watch Video Solution

4. Assertion (A) : Rochelle's salt is used as a complexing agent in
Tollens reagent.

Reason (R). Sodium potassium salt of tartaric acid is known as
Rochelle's salt. The IUPAC name of Rochelle's salt is sodium

potassium-2,3-dihydroxy butance-1,4- diote.

[ OH

COOK
NaOQOC

\ OH



https://dl.doubtnut.com/l/_JHYWdkyNt9S8
https://dl.doubtnut.com/l/_IiQB3ob5xdJk

A.If both (A) and (R) are correct and (R) is the correct
explanation for (A).

B.If both (A) and (R) are correct and (R) is not the correct
explanation.

C.If (A) is correct and (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: D

o Watch Video Solution

5. Assertion (A): The IUPAC name of isoprene is 2-methy1 buta-
1,3-diene.

Reason (R): Isoprene unit is a monomer of natural rubber


https://dl.doubtnut.com/l/_IiQB3ob5xdJk
https://dl.doubtnut.com/l/_8a3yjbwzJQ2Y

A.If both (A) and (R) are correct and (R) is the correct
explanation for (A).

B.If both (A) and (R) are correct and (R) is not the correct
explanation.

C.If (A) is correct and (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: B

o Watch Video Solution

Fill In The Blanks Type

1. The compounds having both sp — and sp?-hybrideised C' atmos

[[3— (propane, propdiene.

o Watch Video Solution



https://dl.doubtnut.com/l/_8a3yjbwzJQ2Y
https://dl.doubtnut.com/l/_dlHjVQ6QOzu9

2. ... ring is the most strained. (Cyclopropane, Cyclobutane,

Cyclopentane)

o Watch Video Solution

3. The terminal C atom in butane is ............ hybridised.

o Watch Video Solution

4. A vic diol has two hydroxy1 group on....... C atoms

° Watch Video Solution

5.The IUPAC name of succinic acid iS...oew..

o Watch Video Solution



https://dl.doubtnut.com/l/_dlHjVQ6QOzu9
https://dl.doubtnut.com/l/_yXYoAvcqBIDr
https://dl.doubtnut.com/l/_F8cNd2agiRyL
https://dl.doubtnut.com/l/_c2rxI70w2LaX
https://dl.doubtnut.com/l/_TwP1CXL5axPg

Analytical And Descriptive Type

1. Give the IUP AC name of the following compound.

CH, = CH — CH(CH),

o Watch Video Solution

2. Give the IUP AC name of the following compound.

Me
Me z Me
Me Me

° Watch Video Solution



https://dl.doubtnut.com/l/_TwP1CXL5axPg
https://dl.doubtnut.com/l/_jdy7tL2kZsJE
https://dl.doubtnut.com/l/_71LnYDBl9Tzv
https://dl.doubtnut.com/l/_XSmQdvAH5y3y

3. Give the IUP AC name of the following compound.

CH;

|
H;C I'\I clz CH,— CH,4

CH; C,H;

° Watch Video Solution



https://dl.doubtnut.com/l/_XSmQdvAH5y3y

